" i Available Input Ports i Available Input Ports Available Input Ports
peripheral ;:;L’:Srt Selgce'fﬁ:::‘a‘?:o“ PIC18F47Q83 PIClBF4$Q43 PIC18FA7K42 ;:;L’:Srt Selgz:;u':‘;lgo'? PIC16F1‘:§877 :::i;‘s'u ' PIClGF1p5C!BG [COMMON [ASSIGNED
nterrupt 0 INTOPPS RBO A B — — A B — — — A B — — INTPPS RBO A [ B [ =T =1 INTPPS A [ B [ — 1 =1 RAX, RBx
Interrupt 1 INT1PPS RB1 A B — — A B — — — A B — — [RAX, RBx
Interrupt 2 INT2PPS RB2 A B — — A B — — — A B — — [RAX, RBx
frimer0 Clock TOCKIPPS RA4 A B — — A B - - = A B = frockipps RA4 A B = = frockipPs A B = = RAX, RBX
Jrimer1 Clock T1CKIPPS RCO A - c — A - c - — A — c — frickipps RCO A — c — Jrickieps A — c — RAx, RCX
frimert Gate T1GPPS RB5 — B c — — B c — — — B c — friceps RB5S — B c — friceps — B c — | RBx, RCx
Jrimer3 Clock T3CKIPPS RCO — B c — — B c — — — B c — frackipps RCO — B c — REx, RCX
frimer3 Gate T3GPPS RCO A — c — A — c — — A — c — fraceps RCO A — c — [RAX, RCx
Jrimer5 Clock T5CKIPPS RC2 A — c — A — c — — A — c — frsckipps RC2 A — c — RAX, RCx
frimers Gate T5GPPS RB4 — B — D D frscpPs RB4 — B — D RBx, RDX
Jrimer2 nput T2INPPS RC3 I — fraineps RC3 — H — H franees G — GBI — | /a
Jrimer4 Input T4INPPS RC5 — B c — — franinpps RC5 — B c — RBX, RCx
Jrimers Input T6INPPS RB7 — B — D D JreanpPs RB7 — | B | =1 o] RBx, RDX
Universal Timer Input 0 ITUINOPPS RCO — — c — IRCx, REx
Juniversal Timer Input 1 TUIN1PPS RB5 — B c — RBx, RCx
== ccP1PPs RC2 — B c — — B c — — — B c — fccp1pps RC2 — B c — ccriprs | — [ B [ ¢ [ — ] RBx, RCx
fccp2 lccp2pps RC1 — B c — — B c — — — B c — fccpapps RC1 — B c — ccrzers | — [ B | ¢ | — ] RBx, RCx
ICCP3 ICCP3PPS RB5 — B — D — B — D — — B — D jCCP3PPS RB5 — B — D [RBx, RDx
== RBO — B — D fccpapps RBO — B — D RBX, RDX
fccrs RA4 fccpspps RA4 A — — — RAX, REX
SMT1 Window SMTIWINPPS RCO — | B — — | B - = — B — SMT1WINPPS RCO — B — — RBxX
SMT1 Signal SMT1SIGPPS RC1 — | B — — | B — [ = — B — smT1sIGPPS RC1 — B — — RBxX
sMT2 Window RB4 JsuT2winpPs RB4 — B — D REx, RDX
fsMT2 Signal RBS JsmT2sicPps RB5S — B — D RBx, RDX
PWM Input 0 PWMINOPPS RC2 — B c — — B c — — RBx, RCx
PWM Input 1 PWMIN1PPS RC6 A — — — A — — — E RAX, REX
PWM1 External Reset Source  |PWM1ERSPPS RC3 A — c — A — (o3 — — [RAX, RCx
PWM2 External Reset Source  |PWM2ERSPPS RC5 A — c — A — (o3 — — [RAX, RCx
PWM3 External Reset Source  |PWM3ERSPPS RB7 — B — D — B — D — [RBx, RDx
PWM4 External Reset Source  |PWM4ERSPPS RC3 A — c — [RAX, RCx
w1 cwa1pPs RBO — B — D — B — D — B — D cwsipps RBO — B — D cwainees [ — [ B [ — [ b | RBx, RDX
cwaz2 cwG2pPPs RB1 — B — D — B — D — — B — D cwaz2pps RB1 — B — D [RBx, RDX
ICWG3 ICWG3PPS RB2 — B — D — B — D — — B — D JICWG3PPS RB2 — B — D [RBx, RDx
psm1 Carrier Low MD1CARLPPS RA3 A — — D A — — D — A — — D VDCARLPPS RA3 A — — D RAX, RDX
DSM1 Carrier High MD1CARHPPS RA4 A — — D A — — D — A — — D MDCARHPPS RA4 A — — D RAX, RDX
DsM1 Source MD1SRCPPS RAS A — — D A — — D — A — — D MDSRCPPS RAS A — — D [RAX, RDX
fcLex Input 1 [CLCINOPPS RAO A — c — A — c — — A — c — fcLcinopps RAO A — c — cLcinopPs A — c — RAX, RCx
fcLex Input 2 CLCIN1PPS RA1 A — c — A — c — — A — c — fcLcinipps RA1 A — c — cLcinipps A — c — RAx, RCX
fcLex Input 3 [CLCINZPPS RB6 — B — D — B — D — — B — D fcLcinzpps RB6 — B — D cLoinerrs | — B — D RBx, RDX
fcLex Input 4 CLCIN3PPS RB7 — B — D — B — D — — B — D fcLcinapps RB7 — B — D cLoinspes | — B — D REx, RDX
fcLex Input 5 [CLCINGPPS RAO A — c — A — c — — RAX, RCx
fcLex Input 6 CLCINSPPS RAT A — c — A — c — — RAX, RCx
fcLex Input 7 [CLCINGPPS RB6 — B — D — B — D — RBx, RDX
fcLex Input 8 CLCIN7PPS RB7 — B — D — B — D — RBx, RDX
JADC Conversion Trigger ADACTPPS RB4 — B — D — B — D — — B — D rocacTeps RB4 — B — D roacTePs — B — D RBx, RDX
JSPI1 Clock SPI1SCKPPS RC3 — B c — — B c — — B c — JssP1cLKPPS RC3 — B c — ssPicLkpPs | — B c — RBx, RCx
P11 Data SPI1SDIPPS RC4 — B c — — B c — — — B c — JssP1DATPPS RC4 — B c — sspioaTPPs | — B c — REx, RCX
P11 Slave Select SPI1SSPPS RA5 A — — D A - - D - A - - D fssPissPps RA5 A — — D sspissers | A — — D RAX, RDX
ISPI2 Clock SPI2SCKPPS = B = D — B - D - fssP2cLkPPs = B = D ssPacLipPs | — B = D REx, RDX
P12 Data SPI2SDIPPS — B — D — B - D - JssP2DATPPS = B = D ssP2paTPPS | — B = D RBx, RDX
P12 Slave Select SPI2SSPPS — — D — — D — Jsspasspps — E - D sspesseps | — (Gl — D RDx
2C1 Clock 12C1SCLPPS(1) RC3 - B c — B C — — — B c — RBx, RCx
2C1 Data 12C1SDAPPS(1) RC4 — B c — - | B C = - — B c — RBx, RCx
2C2 Clock 12C2SCLPPS(1) RB1 — B — D RBx, RDX
2C2 Data [2C2SDAPPS (1) RB2 — B — D RBx, RDX
UART1 Receive U1RXPPS RC7 — B c — — B c — [ = — B c — RxpPs RC7 — &8 [ c | =] Rx1PPs — B c — RBX, RCx |
JUART1 Clear to Send U1CTSPPS RC6 — B c — — B c — — — B c — frxpps RC6 — | s [ ¢ | =11 frx1pPs — B c — RBx, RCx
UART2 Receive U2RXPPS RB7 - B — D - B — D — - B — D RB7 Rx2PPs — B — D REx, RDX
UART2 Clear to Send U2CTSPPS RB6 — B — D - B — D - — B — D RB6 frxapPs — B — D RBx, RDX
UART3 Receive U3RXPPS RA7 A B — — A B — — - RAX, RBX
UART3 Clear to Send U3CTSPPS RA6 A B — — A B — — — [RAX, RBx
JUART4 Receive U4RXPPS RB5 — B — D - B - D - RBx, RDX
UART4 Clear to Send U4CTSPPS RB4 — B — D - B — D — RBx, RDX
JUARTS Receive USRXPPS RAS A — c — A = C = - RAX, RCx
UARTS Clear to Send USCTSPPS RA4 A — c — A — C — — RAX, RCx
CAN Receive [CANRXPPS RB3 — B — D RBx, RDX ko 1




Available Output Ports ‘ Available Output Ports
JOutput Source utput Source ICOMMON SSIGNED
RxyPPS PIC18F47Q83 RxyPPS PIC18F47Q43 RxyPPS PIC18FA7KA2 [RxyPPs | PIC16F18877 RxyPPS PIC16F15386

fcanTX oxd6 | — B — D JRBx, RDX
ADGRDB 0x45 | A - c - 0x45 A - c - 0x32 A - c - ADGRDG 25 | A — c — - JRAX, RCx
ADGRDA ox4d | A — c — 0xd4 A — c — 0x31 A — c — ADGRDA 024 | A - c - | = JRAx, RCx
= 0x43 | A - — D 0x43 A - — D 0x28 A - — D psm 1B | A — — ) - JRAX, RDx
cLkR ox42 | — s N - oxd2 | — s S — 27 | — s S — fcLKR ox1A | — e el — | — B | — B | — | — HE — Fsx

co3 o4l | — B - | = 0xd1 — B - | = IRBX, REX

co2 ox40 | — B — D ox40 | — B — D JRBX, RDX

co1 0x3F | A — — D 0x3F A — — D 0x26 | A — [ =T o Nco [ oxt9 [ A — [ =T o — oA [ A — | = T o ] =1 = Raxrox
frutes 03B | — B — D JRBX, RDX
frutea 03A | — B c — JRBx, RCx
frvro o9 | — S c — o | — E c [ — o2 | — S c - rvRo [oxe | — EN c [ — [ — o9 | — [ — [ ¢ [ — [ — [EllRex
|2C2 SDA(W) 0x24 — B — D JRBx, RDx
22 scLa ox23 | — B — D JRBX, RDX
2C1 SDAW 0x38 | — B c - ox22 | — B c - JRBX, RCx
|21 scLyy 037 | — B c — 0x21 — B c — RBx, RCx
fspi2 55 036 | A - — [ 0x36 A - D JRAX, RDx
sP12 sDO 0x35 | — B D 0x35 — B D spo2/sDA2 [ ox17 | — B [ — ] o — oxs | — B | — [ o [ — ] — [ex-Rox
JsPi2 scK ox34 | — B — D 0x34 — B — D scka/scL2 [oxte | — B | — [ o — o7 | — B | — [ o | — | = [exRox
P11 55 033 | A — — [} 0x33 A — — D 0x20 A — — D JRAX, RDX
P11 sDO 032 | — B c - 32 | — B c - oxiF_ | — B c - JsD01/SDA1 oxi5 | — B c — - 0x16 — B c - — [ — [RexRrcx
JsPi1 sCK 031 | — B c — 0x31 - B c — oxiE | — B c — JscK/scL oxi4 | — B c - | = 0x15 - B c — | — | = FRBx.Rex
jc20uT 030 | A - - 0x30 A - - oxiD | A - — - jc2out 13 | A — - — E 0x14 A - — - E — RAxRex
ciouT o2F | A — - D 0x2F A — - D oxicC | A — - D S oxi2 | A - | = D — 0x13 A - | = D — | = Jrax.RDx
uARTS RTS oxE | — B c — ox2E | — B c — RBx, RCx
UARTS TXDE 2D | — B c - 02 | — B c - JRBX, RCx
JUARTS TX o2c | — B c — ox2Cc | — B c — RBx, RCx
UART4 RTS 2B | A - — D 0x2B A - — D JRAX, RDx
UART4 TXDE oA | A — — [} 0x2A A — — D JRAX, RDX
JUART4 TX 029 | A - — D 0x29 A - — D JRAX, RDx
UART3 RTS 028 | A B - | = 0x28 A B - | = RAx, RBX
UART3 TXDE 27 | A B - - o0x27 A B — - RAX, RBX
JUART3 TX 026 | A B — 0x26 A B — RAx, RBX
uART2 RTS 025 | — B D o2 | — B D oxis | — B — JRBx, RDX
uART2 TXDE 0x24 | — B "o ] ox24 | — B ~ "o ] ox17 | — B - b2 [ oz | — B — =T = ks
uART2 TX 0x23 | — B - D 0x23 - B - D oxt6 | — B - D frxaick2 | o1 | — B o | — | — [rex.Rox
UARTT RTS 022 | — B c - 22 | — B c - oxi5 | — B c - JRBX, RCx
UART1 TXDE ox21 | — B c — 0x21 — B c — oxt4 | — B c — pT1 [[ox11 [ — B [ c | — — oxto | — B [ ¢ [ — [ =] — [exRcx
JUARTT TX 020 | — B c — 20 | — B c — 0x13 B c — frxaicki [Toxto | — B | ¢ | — — ooF | — B | ¢ | — | — | — [exrex ol
PwisoUT 0x10 A — - D JRAx, RDX
pwm7oUT 0xOF A — c — Pwm7oUT 0xOF | A — [ ¢c [ = — RAX, RCx
PwmeoUT O0x0E A — — D PwmeoUT 0x0E | A — [ =10 — 00E [ A — [ =1 o ] — RAX, RDX
pwmsouT 0D | A - N - PwmsouT o0 | A — =1 =1= be
pwmasiP2 ouT | oxtF | A - — D Ox1F A - — D JRAX, RDx
pwmasiPiouT | oxiE | A — c — ox1E A — c — RAx, Rcx
Pwm3s1P2_ouT | oxtD | — B — D 0x1D — B — D PwmaoUT [ oc [ — B | — [ o [ — [ — [exRDx
PwWM3s1P1_OUT | ox1C | — B — D ox1C_ | — B — D Pwm3ouT | o8 | — B | — [ o | — ] — [ex-Rox
pwm2s1P2_OUT | ox1B | — B — D oxiB_ | — B — [ JRBX, RDX
pwm2s1P1_OUT | ox1A | — B — D oxiA | — B — D JRBx, RDX
pwmisiP2_ouT | oxt9 | — B c - oxi9 | — B c - JRBX, RCx
PWMiS1P1_OUT | oxi8 | — B c — oxis | — B c — JRBx, RCx
fccps jccps 00D | A — - — E RAX, REX
fccpa ox0Cc | — B | — D jccpa ox0Cc | — B - D - JRBX, RDX
fccps 0x17 B — D 0x17 B — D 0x0B B — D fccpa 0B | — B — D — JRBx, RDX
jccp2 0x16 | — c — 0x16 = ® — 0x0A = ® — fccp2 00A | — c = — oA [ — — e [ =1 = Cx
fccpi ox15 [ — c — 0x15 = c - ox09 | — c - jccpi ox09 | — c = - we | — | = [ ¢ | =] = Cx
cwasp ox14_| A - — [ ox14 A - — D 0x30 A - — D cwaap 23 | A — - D - JRAX, RDx
cwasac ox13 | A — — D ox13 A — — D 0x2F A — — D cwasc o2 | A - | = D — JRAx, RDX
cwass ox12 | A - — - 0x12 A - — - ox2E | A - — - cwass ox21 A — - — E RAX, REX
cwasa oxi1 | — B c — ox11 - B c — 020 | — B c — cwaaa 020 | — B c - | = JRBx, RCx
cwaz2p ox10 | — B — D oxio | — B - D oxc | — B — D cwa2o oxIF | — B - D - JRBX, RDX
cwazc 0x0F_ | — B — D 0x0F_| — B — D 2B | — B — D cwaac oxiE | — B - D - JRBX, RDX
cwazs 0x0E | — B - [} 0x0E | — B — D oA | — B — D cwazs oxiD | — B — D — JRBx, RDX
cwa2a ox0D | — B c - 0x0D | — B c - 29 | — B c - cwaaa oxic | — B c — - JRBX, RCx
) oo | — B — D ox0C | — B — D 0x08 | — B - D cwa 1 0x08 | — B — D — 0:08 — B — D — | — [Bx.RDx
cwaic 0x0B | — B — D 0x0B | — B — [ ox07_ | — B — D cwa1c ox07 | — B - D - 0107 — B — [ — | — [rexrox
cwa1s 0x0A B D 0x0A B D 0x06 | — B — D cwa1s 0x06 | — B — D — 0x06 — B — D — | = rBx.RDx
cwa1a 0x09 | — B c - ox09 | — B c - 0x05 | — B c - cwa1a 0x05 | — B c — - 0:05 — B c - — | = [exRrcx
fcLcsouT 0x08 | — B - D 008 | — B - D JRBx, RDX
cLc7out 0x07 | — B — D 07 | — B — [} JRBX, RDX
fcLcsouT 0x06 | A — c — 0x06 A — c — JRAx, RCx
fcLcsout 0x05 | A — c — 0x05 A — c — RAx, Rx
cLcaouT ox04 | — B — D 0x04 — B — D 0x04 — B | — [ o cLcaouT ox04 | — B | — [ b — 0x04 — B — D — — [ex.RrDx
fcLcaout 0x03 | — B — D 003 | — B — D 003 | — B — D jcLcaout 0x03 | — B — D — 0:03 — B — D — | — [rBx.RDx
cLcaouT 002 | A — — 0x02 A — — 0x02 A — — jcLczout 0x02 | A — - [ = 0102 A — — T =1T= Ax
cLciout 001 | A - - 0x01 A - - 0x01 A - - jcLciout 001 | A - - | = 001 A — === Ax
LATxy 0x00 | A B c D 0x00 A B c D 0x00 A B c D 1]

1. Bidirectional pin. The corresponding input must select the same pin.




